
www.powerbronze.co.uk 
Telephone: 44 (0)1903 783222   Fax: 44 (0)1903 783333  sales@powerbronze.co.uk Powerbronze International Ltd reserve the right to change any specification without 

notice. These instructions are  Copyright of Powerbronze International Ltd and should not be reproduced in any form without permission 

 
TRIUMPH SPEED TRIPLE 1050 12-15 

PART NO: 430-U152 
ISSUE 2 30.01.19  

 
  
 

    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

                                            
 
CONTENTS (NOT TO SCALE) 
 

                  
 

                                  
    
                                        
PLEASE NOTE: THIS LIGHT SCREEN IS DESIGNED TO BE FITTED ONTO THE TRIUMPH FLY SCREEN – THIS IS A TRIUMPH 
ACCESSORY AND WILL NEED TO BE PURCHASED FROM A TRIUMPH DEALER 

 

    
 

QTY DESCRIPTION OFFICE 
USE 

1 Light Screen Loc 

1 Bracket F031B 

1 3M Cleaning Wipe 125 

2 M5 x 20 socket screws 6 

2 M5 x 50 socket screws #46 

2 M5 x 15 well nuts 11 

2 
15mm od x 6.3 id x 22.5mm long 
spacers (9003-F032) 

#44 

2 
15mm od x 6.3 id x 10mm long 
spacers (9003-F033) 

#45 

1 800mm length of 3M tape  

1 Powerbronze sticker – small #158 

   

REQUIRED: 

Set of spanners 
Screwdrivers 
Sockets 
Allen Keys 
Clamps 



www.powerbronze.co.uk 
Telephone: 44 (0)1903 783222   Fax: 44 (0)1903 783333  sales@powerbronze.co.uk Powerbronze International Ltd reserve the right to change any specification without 

notice. These instructions are  Copyright of Powerbronze International Ltd and should not be reproduced in any form without permission 

 
 

Fit well nuts to the holes in the Powerbronze screen 

        
  
 
Place the bracket (2) on top of the well nuts with curve of bracket facing screen 

 
 
Fasten using 2 x M5 x 20 socket screws (3) 

 
 
Using the cleaning wipe supplied, clean the underside of the instrument fairing and the top face of the screen 
 
Cut 3M tape (8) into 8 lengths 90 mm long  
 
Apply single strips to underside of instrument fairing and outside of screen as shown below  
Remove red backing. 
 

  
Underside of instrument fairing 



www.powerbronze.co.uk 
Telephone: 44 (0)1903 783222   Fax: 44 (0)1903 783333  sales@powerbronze.co.uk Powerbronze International Ltd reserve the right to change any specification without 

notice. These instructions are  Copyright of Powerbronze International Ltd and should not be reproduced in any form without permission 

     
Outside edge of screen                                                    Outside edge of screen 
 
Then add another layer on top of fitted strips-double thickness 
 
Remove the two centre screws from the instrument fairing 
 
Insert the M5 x 50 socket screws through the centre holes of the bracket and fit the spacers 
 

 
 
Peel backing from all double thickness tape strips, then fit screen and bracket assembly ensuring screen is 
aligned correctly with instrument fairing. Tighten all screws. 
 
Ensure plastic surfaces are protected and apply clamps to press tape areas together.  
Ensure a good bond is formed by leaving clamps on for as long as possible, 24 hours is recommended.  

 


